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BACHELOR’S DEGREE PROGRAMME
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ACC-1: ORGANIZING CHILD CARE SERVICES

Time : 3 Hours Maximum Marks : 100

Note : Answer any five questions. All questions

carry equal marks.

1. (a) Explain the term ‘personality’ with
examples. 5

(b) While purchasing or making play
materials for infants, what are the five

aspects that you will keep in mind ? 5

(¢) Describe the development of gross motor

skills in preschoolers with examples. 10

P.T.O.



2.

(a)

(b)
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Divya’s parents feel that she is now four
years and should focus on her studies more
instead of playing all the time. Do you
agree or disagree with the parents ? Justify
your answer specifying the role of play in
development. 15
Given below is a list of activities. For each
activity state the area of development in

which the activity primarily fosters

development. The first one has been done

for you as an example : 5
. . Area of
Activity
Development
Example—Singing Language
Songs/Rhymes Development

(1) Drawing/Painting

(i1) Grouping objects
of different
colours

(i11) Playing a team
game

(iv) Separating Rajma
and chick peas in
separate
containers

(v) Telling a story




3.

(a)

(b)

(a)
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What are the four main principles of

development ? Explain each of them with

examples. 4+4+4+4
Fill in the blanks : 4
(6} I 1s the process of attachment

of the zygote to the wall of the uterus.

(A1) e, 1s found in yellow and
orange coloured fruits and vegetables.
(111) Belief of preschoolers that everything
has life, is termed ............... by Piaget.
(iv) Preschool children look at things
entirely from their own perspective.
This quality of child’s thought 1is

known as ...coceeueeenne.. .

Describe the objectives and target groups
of integrated child development services

programme. 4+5

P.T.O.



(b)

(a)

(b)

(a)

(b)
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List the various services provided under
the ICDS programme. Describe any two

services in detail. 3+4+4

State five ways in which the caregiver at
an ECCE centre can involve the family

members in the activities of the centre. 10

List any five aspects that need to be kept in
mind for evaluating the curriculum of a

centre for preschool children. 10

State five play activities or ways through
which you can promote creativity in young

children. 10

Describe one activities each for

preschoolers, which will sharpen :2.5x4=10
(1) the sense of touch

(i1) the sense of smell

(i11) the sense of hearing

(iv) the sense of vision



7.

(a)

(b)
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“Parents should purchase expensive toys
and play materials for infants.” Do you
agree or disagree with the statement ?
Give reasons in support of your answer

with examples. 10
What are the negative consequences
of using physical punishment as a method

of disciplining a preschool child ?

Discuss. 10
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